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c. Fleshy endocarp  d. Hard endocarp 

khq;fdp> fy;Nghd;w fdp vd;wiof;fg;gLfpwJ Vnddpy; ,jd;  

a. ntspj;Njhy;> Njhy; Nghd;wJ   b. eLj;Njhy; fy;Nghd;wJ 

c. cs;Njhy; rijg;gw;Ws;sJ   d. cs;Njhy; fbdkhdJ 

 

5. The vascular bundles are ‘skull shaped’ in  

a. Dicot root  b. Monocot root  c. Dicot stem d. Monocot stem 

kdpj kz;ilXL tbt th];Fyhh; fw;iwfs; ,jpy; fhzg;gLfpd;wd 

a. ,Utpj;jiyj; jhtuNth;  b. xU tpj;jpiyj; jhtu Nth; 

c. ,Utpj;jpiyj; jhtujz;L  d. xU tpj;jpiyj; jhtu jz;L 

 

6. Complete oxidation of one molecule of glucose yields 

a. 38 ATP  b. 36 ATP  c. 35 ATP  d. 2 ATP 
KOikahf Mf;rp[Ndw;w kilAk; FSf;Nfh]pypUe;J fpilg;gJ  

a. 38 ATP  b. 36 ATP  c. 35 ATP  d. 2 ATP 
 

7. The root pockets are present instead of root caps in 

a. Utricularia  b. Eichhomia c. Hydrilla  d. Lymnophylla 
Nth; njhg;gpfSf;F gjpyhf Nth;g;igfs; vj;jhtuj;jpy; fhzg;gLfpd;wd.  

a. A+l;hpFNyhpah   b. If;fhh;dpah  

c. i`l;hpy;yh   d. ypk;Ndh/gpy;yh  

CHEMISTRY 
 
8. The lightest gas which is non inflammable is  

a. Helium   b. Hydrogen   c. Nitrogen  d. Argon  
kpfTk; ,Nyrhd vhpAk; jd;ikaw;w thA  

a. `Pypak;  b. i`l;u[d;  c. iel;u[d; d. Mh;fhd; 

 

9. Which has maximum lonisation energy? 

a. Alkali metals    b. Alkaline earth metals  

c. Halogens    d. Noble gases  

vit mjpf madpahf;Fk; Mw;wiyg; ngw;Ws;sd? 

a. fhu cNyhfq;fs;  b. fhu kz; cNyhfq;fs;  

c. N`y[d;fs;   d. cahpa thAf;fs; 

 

10. Gram molecular mass of water 
a. 16   b. 2   c. 12   d. 18 



 

APPOLO STUDY CENTRE  PH: 9840226187    www.appolotraining.com 

ePhpd; fpuhk; %yf;$W epiw  
a. 16   b. 2   c. 12   d. 18 

 
11. The valency of carbon  

a. 6   b. 12   c. 4   d. 1 
fhh;gdpd; ,iz jpwd;  

a. 6   b. 12   c. 4   d. 1 
 

12. Sulpha drugs are prepared from  

a. Methylamine    b. Aniline    

c. Benzylamine     d. N-N-di methyl amine  
ry;gh; kUe;Jfs; jahhpf;fg;gad;gLtJ 

a. nkj;jpy; mkpd;    b. mdpypd; 

c. ngd;iry; mkpd;   d. N-N-il nkj;jpy; mkpd; 
 

13.  De-Broglie equation is  

a. 
mv

h
λ =   b. hmvλ =   c. 

hv

m
λ =   d. 

h

mv
λ =  

b – gpuhf;Ns rkd;ghL  

a. 
mv

h
λ =   b. hmvλ =   c. 

hv

m
λ =   d. 

h

mv
λ =  

CURRENT EVENTS 
 

14. The state emblem of India was adopted from 

a. Kalinga Edict     b. Saranath Pillar 

c. Sanchi Stupas     d. Arthasastra 

,e;jpa muR rpd;dk; _________ ypUe;J vLf;fg;gl;lJ 

a. fypq;ff; fy;ntl;L   b. rhuehj; J}z; 

c. rhQ;rp ];J}gp    d. mh;j;j rh];jpuk;  

 

15. The city along the Thames River is 

a. New York  b. Kolkata   c. Paris   d. London  

Njk;]; ejpf;fiu #oypy; mike;Js;s khefuk;  

a. epAahh;f;   b. nfhy;fj;jh c. ghhp];  d. ,yz;ld; 

 

16. The first railway line in India was opened to traffic between  

a. Mumbai – Chennai   b. Chennai – Kolkata 
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c. Mumbai – Thane    d. Delhi – Chennai  
,e;jpahtpy; Kjy; ,uapy;Nt njhlh;g;G ve;j ,U efuq;fSf;fpilNa 
Vw;gLj;jg;gl;lJ. 

a. Kk;ig – nrd;id    b. nrd;id – nfhy;fj;jh 

c. Kk;ig – jhNd    d. nly;yp – nrd;id  

17. Advertising appeals make people to use such articles, which may effect their 

health? 

a. Social objections    b. Ethical objections 

c. Historical objections    d. Economical objections  
cly; eyj;jpw;F NfL tpistpf;Fk; nghUs;fisAk; thq;Ftjw;F tpsk;guk; 
kf;fisj; J}z;LfpwJ? 

a. rKjhak; rhh;e;j FiwghL  b. xOf;fk; rhh;e;j FiwghL 

c. tuyhW rhh;e;j FiwghL   d. nghUshjhuk; rhh;e;j FiwghL 
 

18.  Nuclear test Ban Treaty was signed in? 

a. 1993   b. 1936  c. 1998  d. 1963 

mZrf;jp Nrhjid uj;J xg;ge;jk; ve;j tUlk; ifnaOj;jplg;gl;lJ? 

a. 1993   b. 1936  c. 1998  d. 1963 
 

19. Which of the following is not an International Body? 

a. SAARC  b. UNO  c. IMF  d. IHRC 
fPo; tUtdtw;Ws; vJ cyf mikg;G ,y;iy 

a. rhh;f;    b. If;fpa ehLfs; fofk;  

c. gd;dhl;L ejp epWtdk;  d. gd;dhl;L chpikf; fofk; 

ECONOMICS 
 

20. World Trade Organisation was started in  

a. 1996  b. 1995  c. 1997  d. 1994 

cyf tzpf epWtk; _______ ,y; njhlq;fg;gl;lJ 

a. 1996  b. 1995  c. 1997  d. 1994 
 

21. National Income is otherwise called 

a. Real Income     b. Money Income  

c. Nominal Income    d. Gross National Product  

ehl;L tUkhdj;jpd; kw;nwhU ngah; 

a. cz;ik tUkhdk;    b. gz tUkhdk;  

c. ngausT tUkhdk;    d. nkhj;j ehl;L cw;gj;jp  
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22. As per 2011 census the literacy rate in India is  

a. 74.04%  b. 65.8%  c. 66.8%  d. 67.8% 
2011 Mk; Mz;L kf;fl;njhif fzf;nfLg;gpd;gb ,e;jpahtpy; vOj;jwpT 
ngw;Nwhh; vz;zpf;if  

a. 74.04%  b. 65.8%  c. 66.8%  d. 67.8% 

 

23.  Which year is described as ‘The year of The Great Divide”? 

a. 1991  b. 2001  c. 1921  d. 1981 

“ngUk;gphptpid Mz;L” vd Fwpg;gplg;gLk; Mz;L? 

a. 1991  b. 2001  c. 1921  d. 1981 

 

24. ________ is a basic institution of capitalism. 

a. Price system     b. Income system 

c. Cost system     d. None  

________ Kjyhspj;Jtj;jpd; mbg;gil epWtdkhFk; 

a. tpiy mikg;G    b. tUkhd mikg;G  

c. nryT mikg;G    d. vJTkpy;iy  

 

25. Consumer surplus is  

a. Potential Price – Actual price   b. Mvn = TVn – TVn – 1 

c. Demand = Supply     d. None  
Efh;;Nthh; vr;rk; vd;gJ 

a. cz;iktpiy – jFtpiy   b.Mvn = TVn – TVn – 1 

c. Njit = mspg;G     d. VJkpy;iy  
 

26. The period of David Ricardo  

a. 1723 – 1790   b. 1772 – 1823 

c. 1766 – 1834   d. 1883 – 1964 
Nltpl; hpf;fhh;Nlhtpd; fhyk;  

a. 1723 – 1790   b. 1772 – 1823 

c. 1766 – 1834   d. 1883 – 1964 
 

27.  Industries which are engaged in the conversion of Raw materials into finished 

products? 

a. Construction Industries   b. Genetic industries  

c. Manufacturing Industries   d. Extractive Industries  
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%yg;nghUis KbTw;w nghUshfj; jahhpf;Fk; gzpia Nkw;nfhz;Ls;s 
njhopw;rhiy  

a. fl;Lkhd njhopw;rhiy   b. kuG topj; njhopw;rhiy  

c. cw;gj;jp njhopw;rhiy   d. gphpj;njLf;Fk; njhopw;rhiy  
 

28.  When goods are imported for the purpose of export it is called as 

a. Foreign Trade     b. Home Trade 

c. Entrepot Trade    d. Trade 

Vw;Wkjpf;nfd nghUl;fs; ,wf;Fkjp nra;ag;gl;lhy; mit ________ vd 

miof;fg;gLk;  

a. ntspehl;L tpahghuk;   b. cs;ehl;L tpahghuk;  

c. kW Vw;Wkjp tpahghuk;  d. tpahghuk;  
 

29. Reserve Bank of India was established in  

a. 1935  b. 1945  c. 1939  d. 1969 

________ Mk; Mz;by; ,e;jpa hprh;t; tq;fp Njhw;Wtpf;fg;gl;lJ 

a. 1935  b. 1945  c. 1939  d. 1969 
 

30.  Which one comes under the Quantitative Credit Control Methods? 

a. Bank Rate     b. Fixation of Margins 

c. Direct Action     d. Moral Suasion  
fPNo nfhLf;fg;gl;ltw;wpy; fld; msT fl;Lg;ghL Kiwapd; fPo; tUtJ  

ENGLISH LANGUAGE 
 

31. Choose the correct option that would complete the sentence.  

Each child __________ a gift. 

a. receives   b. has receive   c. receive  d. will be receive  

 

32. Choose the correct superlative form of the given adjective – ‘wealthy’: 

a. Wealthier     b. Wealthiest    

c. More wealthier    d. Most wealthiest 

 

33. ‘Oh, how hot it is! 

This is an __________ sentence.  

a. Imperative  b. Assertive  c. Exclamatory   d. Interrogative  
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34.  Choose the correct meaning of the word ‘bone fide’. 

a. Totally     b. a spoken Examination  

c. Genuine     d. a Summary  

 

35. The famous national song ‘Vande Mataram’ was written by 

a. Bankim Chandra Chatterji   b. Rabindranath Tagore 

c. Kamala Das      d. Sarojini Naidu 

 

36. Choose the correct passive form of the sentence: 

“They are mending the road” 

a. The road was being mended   b. The road has been mended 

c. The road was mended by them   d. The road is being mended  

 

37. Choose the correct option : 

The albatross is a  

a. Snake  b. Sea-bird  c. Volcano  d. Mountain  

GEOGRAPHY 
 

38. The global water use _______ percent is accounted for by irrigation.  

a. 60   b. 80   c. 70   d. 50  

cyfstpy; fhzg;gLk; ePhpd; gad;ghl;by; ________ tpOf;fhL ePh;g;ghrdj;jpw;F 
nrythfpd;wJ. 

a. 60   b. 80   c. 70   d. 50  
 

39. ________ is the Second Largest Country in Asia. 

a. India   b. China   c. Russia   d. Pakistan  
 MrpahtpNyNa ,uz;lhtJ kpfg;nghpa ehL 

a. ,e;jpah  b. rPdh  c. ,u~;ah  d. ghfp];jhd;  

 

40. _______ lake the biggest in India is located towards the south of the Mahanadi 

River Delta.  

a. Chilka   b. Kolleru  c. Pulicat   d. Sambhar 

_________ Vhp kfhejp Mw;wpd; njw;Nf mike;Js;s ,e;jpahtpd; kpfg;nghpa 

VhpahFk;.  

a. rpypfh  b.nfhy;NyU c. Gypfhl;  d. rhk;ghh;  
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41. The Earth has ________ motions.  

a. One   b. Three   c. Two   d. Four  

Gtp njhFjpf;F ________ mirTfs; cs;sd. 

a. xd;W   b. %d;W   c. ,U  d. ehd;F  

POLITICAL SCIENCE 
 

42. Which one of the following is the author of the book ‘The Republic’? 
a. Bodin   b. Bryce   c. Montesquieu  d. Plato  
FbauR vd;w E}iy vOjpath; ahh;? 
a. Nghbd;  b. gpiu];  c. khz;nl];fpA+ d. gpNsl;Nlh  

 
43. Recognised official languages of India 

a. 25   b. 23   c. 22  d. 27 
,e;jpahtpy; mq;fpfhpf;fg;gl;l mYtyf nkhopfs;  
a. 25   b. 23   c. 22  d. 27 

 
44. Which one of the following followed by the Presidential form of government? 

a. America   b. England   c. India   d. France 
fPo;tUk; ehLfspy; vJ jiyth; Kiw murhq;fk; gpd;gw;wg;gLfpwJ? 
a. mnkhpf;fh b. ,q;fpyhe;J c. ,e;jpah  d. gpuhd;]; 

 

MENTAL ABILITY 
 

45. Three angles of a triangle are and Find x + 5°, x + 10° and x +15°. Find x 

a. 30°   b. 80°   c. 50°   d. 60° 

xU Kf;Nfhzj;jpd; %d;W Nfhzq;fs; x + 5°, x + 10° NkYk; x +15° vdpy; x 

a. 30°   b. 80°   c. 50°   d. 60° 
 

46.  The range of 10 first prime numbers is 2, 3, 5, 7, 11, 13, 17, 19, 23 and 29 

a. 23   b. 29   c. 27   d. 21 

2, 3, 5, 7, 11, 13, 17, 19, 23 kw;Wk; 29 vd;w Kjy; 10 gfh vz;fspd; tPr;R 

a. 23   b. 29   c. 27   d. 21 
 

47. Find the two numbers whose sum is 27 and product is 182 

a. 15, 14  b. 16, 12  c, 18, 13  d. 13, 14 

,uz;L ,ay; vz;fspd; $Ljy; 27 ngUf;fy; 182 vdpy; me;j vz;fs;  

a. 15, 14  b. 16, 12  c, 18, 13  d. 13, 14 
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48. Which of the following curves does not pass through the origin? 

a. y + x3 + 1  b. y2  = 2X2  c. y = x3 d. a2y2 = x2 (a2-x2) 
gpd;tUk; tistiufSs; vJ Mjp top nry;yhJ? 

a. y + x3 + 1  b. y2  = 2x2  c. y = x3 d. a2y2 = x2 (a2-x2) 
 

49. The remainder when x3 + x2 – 7x – 3 is divided by x – 3 is  

a. 12   b. 14  c. 5   d. 15 

x3 + x2 – 7x – 3 vd;gij x – 3 My; tFf;Fk; NghJ fpilf;Fk; kPjp  

 

50. If A = (1 – 2 3) and B = 

1

2

3

− 
 
 
 − 

then A + B =  

a. ( 0 0 0)   b. 

0

0

0

 
 
 
 
 

  c. (-14)   d. Not defined  

A = (1 – 2 3) kw;Wk; B = 

1

2

3

− 
 
 
 − 

vdpy; A + B =  

a. ( 0 0 0)   b. 

0

0

0

 
 
 
 
 

  c. (-14)   d. tiuaWf;fg;gltpy;iy  

 

51.  If (7, 3), (6,1), (8,2) and (P,4) are the vertices of a parallelogram taken in order 

then the value of P is  

a. 7   b. 6   c. 8   d. 9 

(7, 3), (6,1), (8,2)  kw;Wk; (P,4) vd;gd Xh; ,izfuj;jpd; thpirg;gb mike;j 

cr;rpfs; vdpy; Pd; kjpg;G. 

a. 7   b. 6   c. 8   d. 9 
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MODERN INDIA 
 

52. The Headquarters of the French possession in India 

a. Pondicherry    b. Karaikal  

c. Chandranagore    d. Mahi  
,e;jpahtpy; gpuQ;Rf; FbNaw;wq;fSf;F jiyikaplkhf jpfo;e;jJ 

a. ghz;br;Nrhp    b. fhiuf;fhy;   

c. re;jpueh$h;   d. kh`p 

 

53. The subsidiary system was introduced by 

a. Lord Hastings     b. Lord Wellesley 

c. George Barlow     d. Sir John Shore  
Jizg;gilj; jpl;lj;ij mwpKfg;gLj;jpath;  

a. N`];bq;]; gpuG    b. nty;ny];yp gpuG 

c. [hh;[; ghh;Ny    d. rh; [hd; N~hh; 

 

54. In which year the Vernacular Press Act was passed? 

a. 1878  b. 1882  c. 1898   d. 1902 
ehl;L nkhop nra;jpj;jhs; rl;lk; nfhz;Ltug;gl;l Mz;L vJ 

a. 1878  b. 1882  c. 1898   d. 1902 
 

55. Which among the following journal was edited by Mussolini? 

a. New ltaly  b. Main Kamph c. Avanthi  d. Risorgimento 
KNrhypdp ntspapl;l gj;jphpf;if  

a. Gjpa ,j;jhyp  b. nka;d; fhk;g; c. mte;jp  d. hprhh;[p nkd;Nlh  
 

56. The League of Nations was established in the year  

a. 1920   b. 1940  c. 1960  d. 1980  
gd;dhl;L fofk; epWtg;gl;l Mz;L  

a. 1920   b. 1940  c. 1960  d. 1980  
 

57. In India, the First Municipal Corporation was setup in which one among the 

following? 

a. Calcutta   b. Madras   c. Bombay  d. Delhi  
,e;jpahtpy; Kjy; efuhl;rp Muk;gpf;fg;gl;l ,lk; vJ? 

a. fy;fj;jh  b. kjuh];  c. gk;gha;  d. nly;yp  
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58. The office of the District Collector was created first by! 

a. Lord Curzon     b. Lord Rippon 

c. Warren Hastings    d. Lord lrawin  
khtl;l Ml;rpahsh; gjtp Kjy; Kjypy; ahuhy; cUthf;fg;gl;lJ 

a. fh;rd; gpuG     b. hpg;gd; gpuG 

c. thud; N`];bq;];   d. ,h;tpd; gpuG  

PHYSICS 
 

59. Light year is the Unit of  

a. Frequency  b. Distance   c. Energy   d. Time 
xsp Mz;L vd;gJ vjw;fhd myF 

a. mjph;ntz;  b. njhiyT  c. Mw;wy;  d. fhyk;  
 

60. The resistance of an ideal ammeter is 

a. Small   b. Zero   c. Infinite   d. Very high 
xU rpwe;j mk;kPl;lhpd; kpd;jil 

a. FiwT    b. Rop   c. <wpyp  d. kpf mjpfk;  
 

61. The polarising angle for glass is  

a. 32.5°   b. 57.5°  c. 90°   d. 45°  
fz;zhbapd; js tpisTf; Nfhzk;  

a. 32.5°   b. 57.5°  c. 90°   d. 45°  
 

62. An object is placed between two parallel plane mirrors, the number of images 

observed will be  

a. 2   b. 4   c. 6   d. Infinite 
xd;Wf;nfhd;W ,izahf cs;s ,U rkjs MbfSf;F ,ilNa itf;fg;gl;l 
nghUshy; Vw;gLk; gpk;gq;fspd; vz;zpf;if  

a. 2   b. 4   c. 6   d. Kbtpyp 
 

63. Two vehicles A and B are running at velocities of 60 km/hr and 45 km/hr 

respectively. Calculate the relative velocity of vehicle A if both travel eastwards 

a. 105 km/hr  b. 15 km/hr c. 52.5 km/hr d. 60 km/hr 

,uz;L thfdq;fs; A kw;Wk; B,60 km/hr kw;Wk; 45 km/hr jpirNtfj;Jld; 
,aq;Ffpd;wd. ,uz;L thfdKk; fpof;F Nehf;fp nry;fpd;w NghJ thfdk; 

Aapd; rhh;Gj; jpirNtfj;jpid fzf;fpLf.  
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64. Which of the following physical quantites has no dimension? 

a. Force   b. Momentum  c. Impulse   d. Angle  

fPo;f;fz;l ,aw;gpay; msTfSs; vjw;F ghpkhzk; ,y;iy 

a. tpir   b. ce;jk;  c. fzj;jhf;F tpir  d. Nfhzk;  

 

65. Decibel is a unit to measure the  

a. Intensity of sound   b. Intensity of radiation  

c. Intensity of light    d. Intensity of heat 
nlrpgy; vd;gJ ,ij msf;f cjTk; myF 

a. xypapd; msT    b. fjph; tPr;rpd; msT 

c. xspapd; msT    d. ntg;gj;jpd; msT  

 

SOUTH INDIAN HISTORY 
 

66. Pattini cult in Tamil Nadu was introduced by 

a. Pandyan Neduncheliyan   b. Cheran Senguttuvan  

c. Elango Adigal      d. Mudathirumaran  
jkpo;ehl;by; gj;jpdp topghl;il mwpKfg;gLj;jpath;  

a. ghz;bad; neLQ;nropad;  b. Nrud; nrq;Fl;Ltd; 

c. ,sq;Nfh mbfs;   d. Klj;jpUkhwd; 
 

67. Self Respect movement was started by 

a. Gandhi  b. Ambedkar  c. Jyotiraophule d. Periyar E.V.R. 
Ra khpahij ,af;fj;ij njhlq;fpath;  

a. fhe;jp  b. mk;Ngj;fhh;  c. N[hjpuht;  d. nghpahh; <.nt.uh 

TAMIL LITERATURE 
 

68. ‘kzE}y;’ vd;Dk; mil nkhopahy; Fwpf;fg;ngWk; E}y;  

a. ew;wpiz  b. jpUthrfk; c. rPtfrpe;jhkzp. rPtfrpe;jhkzp. rPtfrpe;jhkzp. rPtfrpe;jhkzp  d. FWe;njhif  
 

69. ‘ngj;jNyfk; FwtQ;rpapd;’ Mrphpah;  

a. tPukhKdpth;   b.    jQ;ir Ntjehaf rhj;jphpahh;jQ;ir Ntjehaf rhj;jphpahh;jQ;ir Ntjehaf rhj;jphpahh;jQ;ir Ntjehaf rhj;jphpahh;    

c. N[hrg; ng];fp   d. vr;.V. fpUl;bdg;gps;is  
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70. fk;gehlfj;jpd; ahg;G tz;zq;fSf;Ff; $wg;gLk; fzf;fPL 

a.    njhz;Znjhz;Znjhz;Znjhz;Z}w;whW }w;whW }w;whW }w;whW       b. E}w;wpnal;L 

c. E}W     d. gjpndl;L 
 

71. nrhw;nwhlh;epiy vd;W toq;fg;gLtJ 

a. cyh  b. me;jhjp. me;jhjp. me;jhjp. me;jhjp     c. fyk;gfk;  d. guzp  

 

72. ‘Xq;fpAah;’ - ,yf;fzk; $Wf.  

a. Vty; tpidKw;W    b. vz;Zk;ik  

c. tpidj;njhif    d. xU nghUl;gd;nkhop . xU nghUl;gd;nkhop . xU nghUl;gd;nkhop . xU nghUl;gd;nkhop     

 

73. fz;zjhrd; vOjpa E}y;fSs; xd;W  

a. epyTg;G+  b. rz;lkhUjk;. rz;lkhUjk;. rz;lkhUjk;. rz;lkhUjk;     c. #hpafhe;jp d. xspg;gwit  
 

74. “Nghw;whiug; nghWj;jy;” vd;gJ  

a. nghiw . nghiw . nghiw . nghiw      b. epiw   c. Fiw   d. Kiw  
 

75. fhpfhyd; kfs; 

a. mq;fit  b. rq;fit  c.    Mjpke;jpMjpke;jpMjpke;jpMjpke;jp  d. nts;sptPjpahh; 

ZOOLOGY 
 

76. What is the name for the permanent birth control method in Female? 

a. Vasectomy    b. Tubectomy  

c. Removal of uterus    d. Contraceptive pills  
ngz;fSf;F nra;ag;gLk; epue;ju FLk;g fl;Lg;ghL mWit rpfpr;irapd; ngah; 
vd;d? 

a. thrf;lkp    b. l;A+gf;lhkp  

c. fUg;ig mfw;wk;  d. fUj;jil khj;jpiufs;  
 

77. Who discovered ABO blood group? 

a. Karl Landsteiner   b. T.N. Morgon  

c. A.S. Wiener    d. Galwin 

ABO ,uj;j tifia Kjd; Kjypy; fz;Lg;gpbj;jth; ahh;? 

a. fhh;y; Nyz;l;];Bdh;  b. b.vr;. khh;fd; 

c. V.v];. tPdh;   d. fhy;tpd; 
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78. Respiratory center is present in  

a. The Cerebellum    b. The Medulla Oblongata 

c. The Spinal Cord    d. The Parietal lobe  
Rthrf; fl;Lg;ghl;L ikak; fhzg;gLk; gFjp  

a. rpW%is   b. KFsk;  c. jz;Ltlk; d. nghpl;ly; fJg;G  
 

79. Which of the following act as Emergency Gland? 

a. Thymus   b. Thyroid   c. Pituitary   d. Adrenal 

mtrufhy Rug;gpahf nray;gLtJ 

a. ijk];  b. ijuha;L  c. gpl;A+l;lhp d. ml;hpdy; 
 

80.  What is the disease causes due to the infection by a bacterium called Heliobacter 

pylori? 

a. Tooth decay     b. Peptic ulcer 

c. Liver cirrhosis     d. Peritonitis  

‘n`ypf;NfhNgf;lh; igNyhhp’ vd;Dk; ghf;Bhpahthy; Njhd;Wk; Neha; vJ? 

a. gw;nrhj;ij     b. Fly;Gz; 

c. fy;yPuy; mow;rp   d. cjug;igAiw mow;rp  

 
 

 

 


